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	Table 2: LUTS currently on testosterone versus not on testosterone (n=131)

	
	Number (%)
	
	

	PPBC
	On testosterone (n=106)
	Not on testosterone (n=25)
	<0.001

	1 (no problem at all)
	45 (42.4)
	10 (40.0)
	

	2 (very minor problems)
	31 (29.3)
	4 (16.0)
	

	3 (some minor problems)
	23 (21.7)
	2 (8.0)
	

	4 (moderate problems)
	2 (1.9)
	8 (32.0)
	

	5 (severe problems)
	5 (4.7)
	1 (4.0)
	

	6 (many severe problems)
	0 (0)
	0 (0)
	

	
	
	
	

	
	Mean±SD
	
	

	Questionnaire
	On testosterone (n=106)
	Not on testosterone (n=25)
	p value

	UDI-6
	16.5±15.3
	24.3±18.5
	0.030

	ICIQ-Filling
	2.9±2.5
	4.0±2.8
	0.053

	ICIQ-Voiding
	2.5±2.5
	2.8±2.1
	0.478

	ICIQ-Incontinence
	2.0±2.9
	3.1±3.4
	0.092




